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DEPARTMENTAL EXAMINATIONS 
THE ACCOUNT TEST FOR SUBORDINATE OFFICERS — PART – I 

(With Books) 

Maximum Time : 1.30 hours Maximum Marks : 60 

IMPORTANT INSTRUCTIONS 

DESCRIPTIVE TYPE 
Â›ÁõÚ Âøh¯ÎUS® ÁøP ÂÚõzuõÒ 

  Read the following instructions carefully before beginning to answer the questions. 

 ÂÚõUPÐUS Âøh¯ÎUP öuõh[S® •ß¦ RÌUPsh AÔÄøμPøÍ PÁÚ©õP £iUPÄ®. 

1. Answers in excess of the prescribed number of questions appearing at the end of the answer 
book will not be valued. 

ÂøhPøÍ SÔ¨¤mkÒÍ GsoUøPUS AvP©õP GÊv°¸¨¤ß, ÂøhzuõÎß CÖv°À EÒÍ 

AvP GsoUøP°»õÚ ÂøhPÒ ©v¨¥k ö\´¯¨£hõx. 

2. Answer should be in brief and to the point and need not be a verbatim reproduction of 
printed pages. (Applicable for tests to be answered ‘‘with books’’ only). 

ÂøhPÒ _¸UP©õPÄ®, ÂÚõÂØS E›¯ AÍÂ¾® C¸UP ÷Ásk®. ¦zuPzvÀ EÒÍÁØøÓ 

A¨£i÷¯ ÁõºzøuUS Áõºzøu v¸®£ GÊuU Thõx. (CUSÔ¨¦ ¦zuP[PÐhß GÊx® 

÷uºÂØS ©mk® ö£õ¸¢x®) 

3.  In case of doubt, English version is the final. 

ÂÚõUPÎÀ \¢÷uPª¸¨¤ß B[Q» ÁiÂÀ öPõkUP¨£mkÒÍ ÂÚõUP÷Í CÖv¯õÚx.  

 

1.  Write short notes on any EIGHT of the following :          (8  3 = 24) 

   RÌUPshÁØÔÀ H÷uÝ® Gmk £ØÔ¯ ]Ö SÔ¨¦ ÁøμP. 

  (a) Additional charge allowance 

   TkuÀ ö£õÖ¨¦¨ £i 

  (b) Family pension 

   Sk®£ K´Åv¯® 

Register
Number
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  (c) Service Register 

   £o¨ £v÷Ák  

  (d) Life Certificate 

   B²Ò \õßÖ 

  (e) Measurement Book 

   AÍøÁ¨ ¦zuP® 

  (f) Foreign Service 

   A¯À £o 

  (g) Increment Certificate 

   Fv¯ E¯ºÄa \õßÔuÌ 

  (h) Public accounts committee 

   ö£õxU PnUSU SÊ 

  (i) Note of error 

   PnUSPÎÀ ¤øÇ £ØÔ¯ SÔ¨¦ 

  (j) Number Statement. 

   Gs AÔUøP. 

2. Distinguish between any THREE of the following : (3  5 = 15) 

 RÌUPshÁØÔÀ H÷uÝ® ‰ßÔØPõÚ ÷ÁÖ£õkPøÍ ÂÁ›. 

(a) Compulsory retirement and voluntary retirement 
 Pmhõ¯ K´Ä ©ØÖ® Â¸¨£ K´Ä 

(b) Personal pay and Special pay 
uÛ¨£mh \®£Í® ©ØÖ® ]Ó¨¦ \®£Í® 

(c) Controlling officer and Disbursing office 
Pmk¨£õmk A¾Á»º ©ØÖ® £n® ÁÇ[S® A¾Á»º 

(d) Permanent Advance and Temporary Advance 
 {μ¢uμ •ß£n® ©ØÖ® uØPõ¼P •ß£n® 

(e) Qualifying service and non-qualifying service for pension 
 K´Äv¯zvØSz uSv¯õÚ £oUPõ»® ©ØÖ® K´Åv¯zvØSz uSv ö£Óõ £oUPõ»® 

3. Answer any THREE of the following :            (3  7 = 21) 

 RÌUPshÁØÔÀ H÷uÝ® ‰ßÔØS Âøh¯Î. 

(a) An Accounts officer, drawing a basic pay of Rs. 19,730 with a grade pay of Rs. 5,700 with 
effect from 01.04.2014 got promotion on 01.07.2014 as Chief Accounts Officer in the scale 
pay of Rs. 1,600 – 39,100 + Grade pay Rs. 6,600. 

  Calculate his pay as on 01.07.2015, in the cadre of Chief Accounts Officer.  
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 01.04.2014 AßÖ Ai¨£øha \®£Í® ¹. 19,730 ©ØÖ® uμ Fv¯® ¹. 5,700 ö£ØÖ Á¢u 

PnUS A¾Á»º, 01.07.2014 AßÖ ¹. 1,600 – 39,100 + uμ Fv¯® ¹. 6,600 GßÓ HØÓ 

•øÓ°À uø»ø©U PnUS A¾Á»μõP¨ £uÂ E¯ºÄ ö£ÖQÓõº 

 uø»ø©U PnUS A¾Á»º {ø»°À 01.07.2015 AßÖ AÁ¸øh¯ Fv¯® PnUQkP. 

  (b) Calculate the Net qualifying service, Basic pension from the following details. : 
 Date of Birth   : 18.06.1959 
 Date of entry into service : 01.10.1995 
 Retired on super annuation 
 Commutation multiplies for : 8.371 on 59th Birthday 
 Leave availed as following : 
 Extra ordinary leave without MC  : 0-6-0 
 Foreign Service   : 0-4-0 
 UEL with MC   : 0-2-0 
 Suspension treated as punishment : 0-5-14 

 He was drawing pay of Rs. 20,440 + Grade pay Rs. 5,400 in the pay scale of  Rs. 15,600 -
39,100 + 5400 Grade pay as on 01.06.2017.   

 Increment follows on 1st April of every year. 

  RÌUPõq® Â£μ[PÎß £i K´Ä ö£Ö® Aμ_ FÈ¯›ß {Pμ¨ £oUPõ»®, K´Åv¯® 

BQ¯ÁØøÓU PnUQk 

 ¤Ó¢u ÷uv   : 18.06.1959 
 £o°À ÷\º¢u |õÒ  : 01.10.1995 
 £o{øÓÄ K´Ä ö£ØÓõº 

 vø\©õØÓ ö£¸UPzvØPõP : 8.371 on 59th Birthday 
 RÌUPõq® Âk¨¦PøÍ AÝ£ÂzxÒÍõº : 
 ©¸zxÁa \õßÔÀ»õ A\õuõμn Âk¨¦  : 0-6-0 
 A¯À £oUPõ»®   : 0-4-0 
 ©¸zxÁa \õßÔß ÷£›À Âk¨¦ : 0-2-0 
 ushøÚ¯õÚ £o }UP Põ»® : 0-5-14 
  01.06.2017 AßÖ ¹. 15,600 – 39,100 + ¹. 5,400 uμ Fv¯® GßÓ HØÓ •øÓ°À, Ai¨£øha 

\®£Í® ¹. 20,440 ©ØÖ® uμ Fv¯® ¹. 5,400 AÎUP¨£mhx. 

  ¤μv H¨μÀ ©õu® 1&® ÷uv Fv¯ E¯ºÄ ö£ØÓõº. 

(c) An Officer was transferred from Chennai to Salem, which is 334 km away by rail. He 
was relieved on 07.10.2017, Friday afternoon. Calculate the joining time admissible to 
the officer. 17.10.2017 is a Government holiday. 

 ö\ßøÚ°À C¸¢x 334 Q.«. C¸¨¦¨£õøu öuõø»ÂÀ EÒÍ ÷\»zvØS J¸ A¾Á»º 

©õØÓ¨£kQÓõº. AÁº 07.10.2017, öÁÒÎUQÇø© ¤Ø£PÀ AßÖ £o°À C¸¢x 

ÂkÂUP¨£kQÓõº GÛÀ AÁ¸US AÝ©vUP¨£k®. £o÷¯Ø¤øhU Põ»® PnUQkP. 

17.10.2017 Aμ_ Âk•øÓ |õÒ. 

(d) List out the interest free and interest bearing advances that can be availed by a 
Government servant on regular time scale. 
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 {μ¢uμ Aμ_ FÈ¯º J¸Á¸US QøhUPU Ti¯ Ámi²hß Ti¯ ©ØÖ® Ámi°À»õ •ß 

£n[PøÍ £mi¯¼kP. 

(e) List out the different kinds of civil deposits. 

£À÷ÁÖ ö£õx øÁ¨¦z öuõøP CÚ[PøÍ £mi¯¼kP. 

––––––––––––––– 

 


